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o2 1™ 2ol oA 1m Boldl A A oA YFo] Hrj”]
E otk 79l 3717 48° vk RO EolE Fotoi=h (H,
sin48° = 0.74, cos48° = 0.67, tan48° = 1.11 & AAgtet)




10]7} 10m §1 Ateh2] 7t ok 13t
o] Holl AA 9lrt. AtcteE]el 2
ojF= 7o A7]7F 62° & o, ]
O 2HE Attt 7t B 274 9
o] & WhE st 44 A 227t
Fstolel. (W, sin62° = 0.8829,
cos 62 ° = 0.4695, tan 62 ° = 1.8807)

N

Am}rrﬂgmﬁm

o




4. & oA /B = 30°Q o,
AABC 9] Yl o] & oo,




t}e 2a Z+e HWHAPAE ABCD 9
Qole Fajofar,




@ 41v2 @ 422
@ 442 ©® 452

3 4342




2 /B /C=1:3¢% FYPAAF o]

th. AABO 9 HolE Fstofzt.




the 297 2ol LC = 90° 9 A7
29 ABC 94 AC 9] Zol& Fote
Al O 9
o
@ 5sin40° @ 5cos40°
)
5 tan 40° tan 40°
©) an 40 @ tan 40°
sin 40°

© —




ohe 1y 2ol
o1& FHE 42
10
O x= cos 35°
@ x=10tan35°
10
~ sin35°

@ x=10sin35°

B x = 10cos 35°



10. o2 I™A A4 ABC 9] 89 2
ol& F5todzt. (, sin55° = 0.82, cos55° =
0.57, tanb5° = 1.43)




11.

& 1389 pgABCD o)Al /BAC
/ADC = 90° ©]1, BC = 8cm ¥ T,
o] Aol& tstozt,

Qe e

CD

Do

60°
B~--8em ---"C




12. o2 242 ABC oA A = 34° &
o], 0] BC € otz (T, sin34° =
0.5592, cos 34° = 0.8290 )




13.

ohg 197} 2o] vhhE aafsl e} ,
o) Ao1] Ael ko1 m ol vhell ) g o o
S Zd7)E vt 2 2] 2717 --21m--

15° o] 9Tk, Sth] ko] ?

Fnl

D tanl15°m @ 21tan15°m ® sin15°m
@ 921sin15°m 3 cosl1l5°m



14. o2 3 & HPAIHEYE ABCD
ol A HZAAC 2] Zdol=?

@ 35 @ 27
® 213 @ 313
3 413




15.

th& 199 AABCOA BC =

8, A
/B =60°0]1 Yo|7} 8V3¥ o, AB
o] Aol & F5foiat.
60°
B~-__ - C



ojlmz

h
h =0 x sin(180° — /B)

]

1

AABC ©f|A4 /ABH = 180° - /B

sin(180° - /B)

adsin(180° - /B)

1
2 =3

.. AABC =

B h



17. The 293} 22 AABC 9] HolE Fstofat.

A
1
|
l
:
/ l_'
B*
T-6v/3-- H



ok T} 2ol WX 5] Zol7t sem 9 Yol WiIshs HBg ol
Holg Tatolet.
A



19. thg 23 2ol §X59] Pol7}10em ¢ Aol U sh: 4
Holg Fafelet

® 200 cm? @ 200 V2 cm? 3 200 V3 cm?

@ 2022 cm? 3 2023 cm?

OEL

I



20. & 27 Ze aABC oA /B = A
45°, BC =7, AB =3v2 & ©|, AC -
of ol g Fsteiet. 32

& e
-



21. oS a3} 22 AABC oA AB =4 ©]1, /B =60° & o, BC <]
o]

dol=7?

A
7
B 60H o
2(1+ V3) @ 8 ® 45



22. o2 93t o] Zo] 4em Q1 Fo] Ho|ZE AR AC oA HAch
/ABC = 45° & o, AABC 9] Ho]&?

\
7
.

O 7V2cm? @ 8+2cm? ® 9vV2cm?
@ 1442 cm? 3 16 V2 cm?



23. o2 H4Z4de YWols avVb B2 verd o,
a+b 9 F2?

@ 10 @ 14 ® 20
@ 26 ® 30




24. th 193} o] AB =4, AD =
9, /A = 120° Q! HIPAIHY
ABCD 9] Yo7t aVb € W, a+b
o] Zk-& Frotofeh(H, b= A

ez

S ER
=%



25.

TS WA ABCD oA H P
£ % tiZH4 AC, BD o] wHol
/BAD = 60°,AD =3, AB=2 ¢
o, ACPD 9] Ho]&=?

@? @ 23 —Q




_--12--_

AR ] Hols

2

& 1Y% e 3
sfofet.

_;L

26. o




27.

HEA]

® 32v2cm?
@ 802 cm?

=

=1

o] 017} dem Q1 el Sk 3B

@ 50 \/5 cm?
® 100v2 cm?

® 75V2 cm?



@ 30(2+ \/§)cm
® 2(13—5\/§)cm
@30(x/§—1)cm

@ (28+10V3)cem
@ 2(13+5V3) cm



29. & T} 28 AABC oA AB = 24, /B = 60° o] D 7} BC
o] FHd wfj, AD o] Zo|& F5tH?

D6vVi3 @ 6 A 12 @ 1243 G 4413



30. tre 13} o] JL J)AE B o
A3 A% 6km 2, FAL AT A

-

3l A2 A% dkn 2 7
Foll = QAIzre] A2l B
ettt
A4
(0 A7

R km



31.

B 3]l= AEoA 6m Gojxl Lo A A
Be 2ol ¥ 2ol 277k 510, el
2 7Y 37171 36° Ytk o] AE AA|
9] EolE +otofet. (H, tanb1° = 1.2,
fan 36° = 0.7)

@® 9.2 (m) @ 10 (m)
® 11.4(m) @ 12.6 (m)
® 13.2(m)




32. & 1389 AABC oA /A = 30°, /CBH = 60° , AB = 40 & 1,
AABC 9] Hlo]=?
A\~4o—"’

@D 20V3 @ 2003 ® 4003
@ 6003 3 8003



33. o2 I™lA aABC 9] Heol&=

22°

T sin | cos | tan

22°10.37/0.93/0.40

50° 10.77/0.64 1,20

@ 150cm? @ 160 cm? @ 180 cm?

@ 240 cm? B 360 cm?



